ncil wants to sample households in a town in order to find out what proportion of

r waste is recycled. There are 20000 houses in the town and the council want to take
mple of 10% of these houses.

Des cribe how a systematic random sample could be used. [2 marks]

council intends to contact the selected households by telephone and request
ssion to track how much material they recycle over a 3-month period.

ta practical difficulty that may be encountered when contacting households. (1]

reason why the results from the sampled households may not be
ntative of the population. (1]

‘the population in this case? [1]
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Work out whether or not these values are outliers, showing y
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"to find out the average number of homework assignments that
: A He takes a sample of 30 students. The results are shown m .
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12 The police in a town wish to survey members of a number of “Neighbourhood Watch” :
schemes. They wish to survey people from each scheme and the number selected is
proportion to the size of the scheme. Two possible methods of selecting the sample a
Method A: 10 people are randomly selected from each scheme from a list of all n
Method B: The person who manages each scheme is asked to choose a proporti
from their population at random.

a State the name of each of these methods of sampling.
b Which method is preferable? Clearly explain why this method is bett
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n a competition are recorded to the nearest ¢
ese values have been labelled a




